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[1] DIN(ug-at /L) No. 1
H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 | 104 R1 3
10/28 | 11/4 | 10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/18 | 10/17 | 10/16 | FE5 | 10/15 AH
25106 | 60| 15| 24| 23 511 4.7 47 | 33| 41 | F|oHA
4.3 | 0.8 411 3.9 33|55 ]| 54| 45| 40| 5.8 |E H|7 5 *
5.3 5.3 it a7 H A
6.1 | 3.1 | 6.5 5.2 =y b 1[THA
5.5 | 1. 6.6 4.7 = A 2|7Hh A
1.8 | 2.7 4 (21 ]38 54(40] 49| 53| 45| 48] 5010k # 1, mMOHA
= 1[THA
= 2|75 A
5.5 | 5.7 4.7 | 6.3 5. 1.2 | M B 1|TAA
6.3 | 8.2 5.0 | 3.2 571 42 |'& M # 2(7hHA
4.9 | 20 | 4.2 3.5 3 # s P[22 A A
g b | 1|7 AA
g b | 2(ThHA
g b | 3(TAHA
51132 ]53|1061(36] 69|27 |04|27]32]| 34]125|E R =P
4.2 11315303 ] 50 ]|11.5(27(02] 23] 26| 35| 57|k 3 2|1/
56 [ 1.3 1 52|01 ([56]22)] 28|10 23] 36| 30| 9.9 |E R 3(vm/ Y
6.9 [ 5.8 | 3.4 | 5.3 | 4.3 |E 3 4(pms)
7.1 1.0 7.8 1.5 71120 0.7 |1 6.7 [19.3] 5.9 | 3.8 | N 1l#po/y
5.8 | 1.5 | 7.6 | 0.3 | 10.5 | 17.6 0.4 1 6.5 (32 ] 59] 42 | N 2|1/
4.8 | 41 | 55| 2.8 | 56 |18.4 3.8 1249 6.7 | 85| 4.1 pu N 4o/
20| 9.9 16. 1 1.8 [17.3]1 9.7 | 86 | 9.4]1 6.0 |fn B B @IHA
2.7 110.8 13.5 46 | 8.6 [ 85 (10.1]1 84 ] 9.1 |mm B & Q@744
3.1 110.2 12.3 511 5.9 | 6.1 | 5.1 6.8 189 | A B QT7HA
1.3 | 8.5 1431 5.3 | 5.8 [ 6.2 6.9 5 T H A
41108 | 7.7 1.1 ]13.0]10.1| 22| 7.2 | 25| 57| 54 5 b3 i A=Pa
4.1 1.5 1 7.8 101109 1.9 | 22| 54] 29| 56| 43 ]|12.4|%5 b= 2|17/
4.0 (0.8 | 7.7 | 1.3 10.9] 1.1 1.5 | 47| 32 ] 56| 4.1 5 b3 3z
35108 ] 70| 1.3]10.0] 1.5 5.8 56 | 4.5 | 4.1 |=# 5 1l#po/y
3.4 1 0.9 | 7.1 1.2 1 9.8 | 2.0 5.8 5.9 | 4.5 | 4.2 |+ B 2|1/
8.7 10.7 9.7 & BlohA
4.6 | 3.3 | 6.1 6.5 49| 19| 6.2 | 40| 45| 4.7 B # 1[THA
46 | 3.8 | 1.9 7.1 ] 25| 40| 40| 3.8 |& # 2|7Hh A
3.5 (1255|1039 ] 43|31 |33]|34] 49| 34| 4.4 |+ #lposy
29.4 1 33.8 | 37.6 42.9 | 53.7 24.8 | 78.7 | 44.7 | 43.2 | 221 | &EH N1 (RB)|RCT7H
127 |F % 1 0.5m|RCF7H
MNO|EH N1 (.om|RSTH
27.1{ 17.1 | 35.2 43.6 | 47.7 25.8139.5(32.3(33.5] 9.5 |EHIN2 (RB)|RCTH
8.4 |EF & 2 0.5m|RSTH
8.6 |SEH Il 2 (1.om |[RTT7F
37.1120.1 | 30.1 41.3 | 45.0 25.3 1 41.6 | 35.4|34.5]| 25.9 |&EH NI 3 (RB)|RCT7H
16.6 |& % )l 3 (0.5m) | R F7H
9.3 | ®H N 3 (1.om)|[RST7H




[2)] Y (ug-at. L) No. 1

H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 104 R1 F
10/28 | 11/4 | 10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/18 | 10/17 | 10/16 | =5 | 10/15 AH
0.55 | 0.38 | 0.80 | 0.39 | 0.81 | 0.81 0.63 | 0.92 | 0.60 | 0.65 | 0.84 | B|oh A
0.57 | 0.30 1.25{ 1.25 ( 0.81 | 0.91 [ 0.91 | 0.59 | 0.82 | 0.97 |*® |7 H A
0.66 0.66 it A7 H A
0.70 [ 0.40 | 0.76 0.62 2 b 1|9h A4
0.65 | 0.36 | 0.82 0. 61 2 b 2|7 H A
0.77 1 0.42 1 0.92 | 0.52 | 0.67 | 0.67 | 0.77 | 0.70 | 0.76 | 0.52 | 0.67 | 0.64 |’k ® & P7hH*
= 1|7h A4
= 2(7H A
0.68 | 0.68 0.81 { 0.90 0.7710.76 |n& M HE 1|7H*
0.85 | 0.85 0.79 | 0.65 0.78 1 0.68 |8 ™M H 2|T7HA
0.59 | 0.33 ] 0.54 0.53 | 0.53 0.50 # L M| 7 A A
g2 i 1|THA
g2 i 2(TH A
g2 i 3(THA
0.60 [ 0.40 | 0.63 | 0.32 | 0.59 | 0.59 [ 0.52 | 0.34 | 0.53 | 0.35 | 0.48 | 1.17 |E R 112871
0.53 [ 0.39|0.61(0.250.63|0.63|0.53]0.30|0.50|0.29]0.46 | 0.73 |& R 2(pms)
0.70 [ 0.41 | 0.62 | 0.05 | 0.64 | 0.64 [ 0.55 | 0.38 | 0.51 | 0.34 | 0.48 | 0.70 |& R 1A=
0.78 [ 0.91 ] 0.35 | 0.68 | 0.67 |& R 4lyos )
0.64 | 0.30 0.72|0.40 (0.71]0.71 0.31 { 0.70 | 0.93 | 0.60 | 0.61 pu o) 112871
0.63(0.34|0.72|0.10 [ 0.66 | 0.66 0.27 | 0.63 | 0.32 | 0.48 | 0.65 pil "N 2(pms)
0.53 10.39|0.61|0.46 [ 0.62 | 0.62 0.32 | 1.38 | 0.34 | 0.58 | 0.63 i 2 4lyos )
0.44 | 0.66 0.79 1 0.79 | 0.54 | 1.13 [ 0.87 | 0.22 | 0.68 | 0.72 |fn B & @74
0.50 | 0.69 0.51 | 0.51 [ 0.55 | 0.17 [ 0.84 | 0.49 | 0.53 | 0.83 |fn B & Q|74
0.51 | 0.69 0.52 | 0.52 | 0.56 | 0.02 [ 0.78 | 0.43 | 0.50 | 1.18 |fn B & Q|74
0.33 | 0.60 0.63 | 0.63 | 0.67 | 0.54 0.56 5 E|Th A
0.53 1 0.26 | 0.62 | 0.39 [ 0.63 | 0.63 | 0.52 | 0.56 | 0.46 [ 0.09 | 0.47 5 2 112871
0.53 [ 0.25 | 0.59 [ 0.37 | 0.59 | 0.59 [ 0.57 | 0.43 | 0.48 | 0.02 | 0.44 | 0.69 |5 2 2(pms)
0.50 [ 0.27 | 0.58 [ 0.33 | 0.62 | 0.62 [ 0.41 | 0.39 | 0.50 | 0.04 | 0.42 5 = 1A=
0.49 [ 0.26 | 0.54 | 0.37 | 0.62 | 0.62 0. 44 0.12 | 0.43 | 0.61 |+ 5 112871
0.53 [ 0.25 | 0.53 | 0.34 | 0.61 | 0.61 0.46 0.13 | 0.43 ] 0.60 |+ 5 2(pms)
0.89 0.75 | 0.75 0.80 H B|7h A
0.50 [ 0.31 | 0.58 0.50 [ 0.50 | 0.46 | 0.38 | 0.38 | 0.54 | 0.46 &8 # 1|9h A4
0.49 [ 0.49 | 0.45( 0.74 | 0.42 | 0.21 | 0.47 | 0.54 |+& # 2|7 H A
0.45(0.33|0.58 [0.33|10.42|0.42|0.46|0.39(0.46 | 0.59 | 0.44] 0.62 |+ #loosy
1.44 1 1.31 [ 0.48 | 0.34 | 0.29 | 0.29 0.58 | 1.82 1 0.53(0.79]0.43 |&EHN 1 (RB)ROTH

0.73 |F % Il 1 (0.5m|RCT7H

0.72 |FFH Il 1 1.0m|RST7H

1.45 1 0.91 [ 0.59 | 0.40 | 0.27 | 0.27 0.56 [ 1.09 - 0.69 |1 0.98 |[B%F) 2 (RB)|RSTA

0.71 |F % Il 2 (0.5m|RCT7H

0.62 |Z % Il 2 1.0m|RSTH

1.53 1 0.94 ( 0.54 | 0.34 | 0.30 | 0.30 0.57 | 2.36 - 0.86 | 0.64 |[E% )3 (RB)|RSTA

0.63 |= % Il 3 (0.5m|RTT7H

0.76 |&= % Il 3 (1.0m |RT7#




(3] Xk B No. 1
H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 104 R1 &
10/28 | 11/4 | 10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/18 | 10/17 | 10/16 | FE# | 10/15 AR
21.5120.5 ] 22.0| 22 23 23 22.0 i F7H A
23.1123.0] 23.1] 23.0 |& H|7H A
it BT AH A
= i 1|7H A
= b 2|7Hh A
221122712271 227|240 229 23.623.0|22.4 |k & 01,8 PmThA
= 1|7H A
= 2|7Hh A
w M B 1|ThA
w M E 2|TUhA
o 15 9|2 5 A
B i 1|7H A
B b 2|7Hh A
B b 3|7HhA
21.2 1 20.0 1 22.0 | 22.4 | 22.5 (225 21.9| 23.2 | 22.0| 22.5| 22.0] 22.8 |E =) 1oy
21.0 1 20.5 1220 225220220 21.9|23.2 220 22.5| 2201 23.1 |E =) 2|0/
21.0 1 20.3 1 21.9] 225220220 21.8|23.3 220 22.2| 21.9]23.1 |E =) 3lyo/
23.2 |1 21.5 1 22.3 1 22.3]| 23.0 |E R 4|oms Y
20.8 [ 20.0 | 21.5 | 21.5 | 22.0 | 22.0 23.2 | 21.8 |1 20.7 | 21.5 | 22.6 | ] 1l#a/y
20.8 [ 19.8 | 21.5 | 21.8 | 21.8 | 21.8 23.2 | 22.0 |1 22.2 | 21.7 ] 22.0 |n ] 2|0/
21.2 [ 19.2 | 21.2 | 20.5 | 22.5 | 22.5 23.0 | 21.0 | 20.8 | 21.3 | 22.2 |n ] 4l Yy
206 | 20.6 | 20.3 | 23.1 [ 20.7 | 20.5 | 21.0|22.4 | B & @78+
21.0 1 21.0 1 21.0 | 23.5 [ 20.5 | 20.8 | 21.3 | 22.7 | B & Q|78+
21.0 1 21.0 1 21.0 | 24.0 [ 20.5 | 21.2 | 21.5 |1 22.8|sn B & Q|7H+4
=7 (DA A
19.5 1 19.0 | 21.2 22 21 21 20 23 21 20 20.7 5 # 1l#a/y
19.5 [ 19.0 [ 21.2 22 21 21 21 23 21 20 20.8 1 21.8 |& b= 2|40/
20.0 1 20.0 | 21.2 22 21 21 20 23 21 20 20.9 5 b= 3lyo/
20051 20.5]21.0] 21.5| 21.8 | 21.8 22.5 23.0 | 21.6 | 22.0 |+ B 1l#a/y
2051 20.5]121.0] 21.3| 21.8 | 21.8 22.5 23.0 | 21.6 | 22.0 |+ B 2|0/
e BlonA
& # 1{7H £
& # 2(7H A
208 119.2 ] 22.0| 21 22 24 22 23 21.8 ] 22.9 |+ woosy
18.5 | 16.0 [ 18.8 18 19 19 22 18 19 18.6 1 20.9 | &H N1 (RB)|RSTH
21.4 |= 5 1 0.5m|RS7A
22.0 | & 1 A.0m|RSTA
18.4 [ 17.0 | 19.1 18 19 19 22 18 19 18.8 1 22.0 | &l 2 (RB)|RST7H
22.6 |= B )l 2 0.5m|RET7A
2.7 |EH 1l 2 A.0m|RST7A
18.0 [ 16.8 [ 19.5 18 19 19 22 18 19 18.8 1 20.1 | &) 3 (RB)|RST7H
20.9 |= & )l 3 0.5m|RETA
21.8 | & )l 3 (.0m|RS7A




(4] & % No. 1
H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 104E R1 =3
10/28 | 11/4 | 10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/18 | 10/17 | 10/16 | ¥ | 10/15 AR
32.1 [ 31.8(30.2] 31.1]30.3]| 30.3 31.3 1 31.3 1 29.8 | 30.9] 31.5 i FlohA
32.3 | 32.0 30.7130.7130.9]31.1]31.0[30.0(31.1]31.4]|% H|7H A
32.3 32.3 it a7 A
32.2 | 32.3 ] 30.9 31.8 = b 1|7H A
32.3|32.21 30.8 31.8 oy b 2|7Hh A
31.7132.3130.4|31.3[31.231.231.031.5|31.5]30.1]31.2]31.8|k & 1| FMIHA
= 1|75 A
= 2|7Hh A
31.6 | 31.6 31.5 | 30.7 31.4131.9 e M B 1|7h4
31.2 | 31.2 31.5 | 31.8 3.4 1 31,9 M H 2|7H
32.4 | 32.6 | 31.5 31.2 | 31.2 31.8 # s FA|7 5 A
2 i 1|7H A
B b4 2|7Hh A
2 i 3|THhA
32.2 131,01 31.3|31.6|31.4|31.4(31.8|31.2|31.4]30.9]|31.4]31.4]|k 3 1|y
32213221 31.0| 31.7| 31.0| 31.0[ 31.9|30.9 | 31.6| 30.9]| 31.5]31.9 |E =) 2|0/
32.3132.3131.1]31.7]30.630.6(31.829.8(31.9]30.5]31.3]31.9 |k 3 <12=PA
31.1 1 31.1130.9 ] 31.0 | 31.9 |E R 4|oms Y
31.7(32.1]30.0]30.6|29.7|29.7 30.2 | 28.7 |1 22.2 | 29.4 ] 31.2 |n " 1|/ Y
32.1132.0)30.0| 31.1|27.3 | 27.3 30.5 | 30.4 ) 30.9 ] 30.2] 27.3 |n ] 2|0/
32.3130.8(30.7]29.4]30.6| 30.6 30.0 | 20.1 | 28.0 | 29.2 | 25.5 | " 4lpmsy
31.0 | 28.0 24.6 | 24.6 | 30.9 | 20.4 | 30.2 | 23.6 | 26.7|30.1|fn B B Q@7AhA
31.9 | 28.2 26.6 | 26.6 | 31.5 [ 30.4 [ 30.1 | 23.4 | 28.6[30.3|sn B B Q@7h+
31.9 | 28.1 26.4 | 26.4 | 31.6 | 30.4 | 30.2 | 26.1 | 28.9130.7|Fn B 5B Q7hA
32.1 | 28.1 24.7 | 24.7 1 30.7 | 31.4 28.6 5 (oA
32.1132.3129.0| 31.3| 25.4 | 25.4(31.625.2 | 31.3 | 24.9| 28.8 5 b= 1l#a/y
32.2 1 32.3(29.1|31.4)26.7|26.7|31.7(26.1]31.3]|24.8]29.21]30.6]|% b= 2lya/ Y
32.2 1324 28.9|31.3|26.7|26.731.8|26.5]|31.4|24.8] 29.3 5 b= 3lyo/
32.3 1325 28.8|31.5| 21.5| 21.5 25.9 25.5 | 28.9 | 30.8 [+ B 1|/ Y
32.2(32.7(29.2]31.3]27.8]27.8 25.7 25.41 29.0] 30.7 |+ B 2|0/
31.5 28.3 | 28.3 29.4 & B|7Hh A
30.4 | 23.3 ] 28.9 28.5 12851320 16.0| 22.0| 27.6 | 26.4 B # 1|7H A
30.8130.8132.0] 21.4| 31.4(28.0(29.1] 30.7 |&= # 2|7Hh A
32.0132.6 130.9|32.4(31.231.2 321305320 30.3| 31.5]31.3 |+ - \A=PA)
28.0 [ 25.0 | 9.4 | 13.0| 8.4 | 8.4 12.7 | 5.1 7.2 | 13.0 | 18.0 |[FH N 1 (RB)|RSTH
22.6 | &)1 0.5m|RSTA
2.3 |E & 1 A.0m|RSTH
271.7 (2771129 15.7] 7.3 7.3 136 | 9.2 | 10.7 | 14.7 1 28.0 | BN 2 (RB)|ARCT7H
27.3 | & )l 2 (0.5m|ARSTA
2.0 | &)l 2 (A.Om|RSTA
24.8 | 25.8 | 15.7 | 14.3 | 7.6 7.6 13.5 | 9.3 8.6 | 141|152 |FHN 3 (RB)|RCTA
27.2 | B )1 3 (0.5m|RCTA
27.2 | & ) 3 (1.Om|RST7A




